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Question 1

Question Type: MultipleChoice

An administrator is planning the size of a new vRealize Operations Manager (VROps) platform using the vVROps sizing tool. The output of
different configurations and sizing information from the tool were modeled for internal design discussion.

Refer to the exhibit:

Which configuration was sized?

Options:

A- High Availability
B- Continuous Availability
C- Stretched Cluster

D- Fault Tolerance

Answer:

C



Question 2

Question Type: MultipleChoice

Which cloud provider needs to be added as a custom cloud provider when running a What-If Analysis?

Options:

A- IBM Cloud
B- Google Cloud
C- Microsoft Azure

D- Oracle Cloud

Answer:

D

Question 3

Question Type: MultipleChoice




Which Grouping Option in vRealize Operations allows the configuration of Tiers?

Options:

A- Tags
B- Applications
C- Cloud Zones

D- Custom Datacenter

Answer:

Question 4

Question Type: MultipleChoice

Which statement accurately describes the characteristics of an alert notification?



Options:

A- Notifications are configured out-of-the-box but need to be explicitly enabled for each object discovered by vRealize Operations.
B- A SMTP Management pack is required to enable email notifications.
C- Notifications are configured as part of an alert's symptom definition.

D- vRealize Operations can be connected to the external alert notification system by configuring an outbound alert plug-in.

Answer:

C

Question 5

Question Type: MultipleChoice

An administrator wants to enable a custom metric configuration file to a scoreboard widget in a dashboard, but after configuring it, the
scoreboard does not show the new metrics at all.

Which scoreboard widget configuration option possibly caused this problem?

Options:




A- Refresh content set to On
B- Self Provider set to Off
C- Self Provider set to On

D- Refresh content set to Off

Answer:

D

Question 6

Question Type: MultipleChoice

A company has just acquired a competitor with a vSphere environment and would like to have the new vSphere environment also
monitored by the company's original three-node vRealize Operations cluster. The vRealize Operations Sizing tool determines two
additional data node, and a remote collector needs to be added to the vRealize Operations cluster.

The nodes are deployed accordingly, and the administrator now needs to create a trust relationship between the cluster and each of
these new nodes.

Which two methods will meet this goal? (Choose two.)



Options:

A- Generate passphrases in the administration User Interface of an existing node, and enter them when prompted in each new node.
B- Click the Add New Nodes button on the Cluster Management page in the product User Interface of an existing node.
C- Use any local or directory user with the Administrator role in vRealize Operations when prompted in each new node.
D- Click the Add New Nodes button on the System Status page in the administration User Interface of an existing node.

E- Use the vRealize Operations root user name and password when prompted in each new node.

Answer:

A B

Question 7

Question Type: MultipleChoice

An administrator has been tasked with making sure that the existing vRealize Operations Manager instance can monitor a newly
deployed vSAN cluster within an existing vCenter Server.

Which action should the administrator take to accomplish this goal?



Options:

A- Add vSAN cluster under Other Accounts.
B- Enable vSAN monitoring under existing vCenter Server Cloud Account.
C- Download and install vRealize Operations Management Pack for vSAN.

D- Add vSAN cluster under Cloud Accounts.

Answer:

B

Question 8

Question Type: MultipleChoice

An administrator is using vRealize Operations for capacity modeling to determine how many more ESXi servers are needed to increase
time remaining and capacity remaining score.

What can be used to accomplish this goal?

Options:




A- What-If Analysis
B- Rightsizing
C- Operations Overview

D- Workload Optimization

Answer:

A

Question 9

Question Type: MultipleChoice

What are the two required components of an alert definition? (Choose two.)

Options:

A- Symptom
B- Version

C- Node



D- Action

E- Recommendation

Answer:

A, D
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